EXERCISES on SEQUENCES and SERIES

I. Determiune whether the following sequences are convergent:
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II. Determine whether the following series are convergent:
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III. Determine whether the following series are convergent:
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IV. Determine the values of the parameters ”x” for which the following series converge.
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V. Determine the exact values of the following sums:
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V1. For the following functions find the Taylor series expansion about the given point
and determine the interval of convergence.

) f(@)=¢, mo=a  2) f&)=tnz, z=2  3) f(z)=sinz, wo=}%
1) fl@)=3 o= 5) f(z) = =, To=0

VII. A function satisfies the initial value problem: f'(z) 4+ 2z f(z) = 0, f(0) =
Find f(z) in the form of a power series 72, a, " and identify this function. In what
interval does the series represent the function?



